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Oll AEXF -
SAHRE

=0llak

ASHEIIS

OPN=SINE =

- & Al =) X = Al =)
& = =N A C4=QloH s & = X=H HEATX EN g2
E Al 124,620 122,309 2,311 & A 124,620 122,309 2,311
rSRelt= 0 0 0| HISRHE AL HI 15,000 15,000
2X23 0 0 0| At ARSI 0 0 0
= 0 0 0| 23| 0 0 0
ey 0 0 0|J1=&bl 0 0 0
V=R 0 0| GIEr2 0 0
X222l 118,126 115,445 2,681 GiXl= 124,620 107,309 17,311
Ol== 0 0 0| xe2ae2as 0 0 0
Ol Xt==& 1,4%4 1,864 AJ70 | ti22eiS4s 0 0 0
JIEt=—¢ 5,000 5,000 0| JIEtKI= 0 0 0
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Ol&kRb= o 208
ARE - ABHSII=

@ 2= (el @e)
Zog= gy | 52 | =2 4B
200 NIl 6,4% 6,864 A370
210 BaEA 2= 1,494 1,864 A370
216 OlXt==& 1,494 1,864 A370
216-01 S30I=0I K== 1,494 1,864 A370
OUWIZO0IXkt 1,494,000& = 1,494
220 LAEHA 2L 5,000 5,000 0
224 J|Et=¢ 5,000 5,000 0
224-06 12+ 5,000 5,000 0
OnIESE=, 5,000,000& = 5.000
700 22U SL RN 118,126 115,445 2,681
710 B82S 118,126 115,445 2,681
714 WIXI23l= 118,126 115,445 2,681
714-01 BIXIZ3=2l == 118,126 115,445 2,681
OUIxI gzl 118, 126,000& = 118,126
= 2 g A 124,620 122,309 2,311
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Ol&kRb= o 20MaH
JARE - ASHSII=

@ XIEAHS

IE - 22 HY . 9 NIRAY - BES AL
eIy 124,620
AlZO|otOrN 124,620
Hees 124,620
LHEH UK Z(AIZRIED|2) (A ERE)|2) 124,620
AZXE)|B 124,620
602 GIXIZ 124,620
e 124,620 124,620

OolIxI2 124,620,0008 = 124,620

X = 8 124,620
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Ol &bXb== @ 2 0ilAt

FHPE  AEXEI2 EERE)
g .

a4=d = r=\r=pcl B
H® bSEel= 2X2 y = = | O3 | OIX=g | JIEMY

(OIXZ &)
20118 DX 208,498 0 42,733 0 0 0 21,741 144,024
20128 4,614 0 0 0 0 0 2,634 1,980
20134 & 7,92 0 0 0 0 0 2,92 5,040
20148 ¢ 2,424 0 0 0 0 0 2,424 0
20154 & 9,129 0 0 0 0 0 2,361 6,768
2016E < 17,664 0 0 0 0 0 1,865 15,799
20179 < 6,4% 0 0 0 0 0 1,494 5,000
H 256,785 0 42,733 0 0 0 35,441 178,611
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Ol &bXb== @ 2 0ilAt

ST ABEEDI2 (Eol: @2
X| 34 OH
g9 o =/
of = & . &roy
A H® HIEXE | SNUEA | ezegl | XILSE | O+=& JExE | @0
Ard| =]l % ol=3 | 2248 | 22
20114 A 110,805 110,805 0 0 0 0 0 97,693
201289 % 6,360 6,360 0 0 0 0 0 A1,746
20188 & 0 0 0 0 0 0 0 7,962
201449 % 0 0 0 0 0 0 0 2,424
201548 % 0 0 0 0 0 0 0 9,129
20169 % 15,000 15,000 0 0 0 0 0 2,664
0178 % 0 0 0 0 0 0 0 6,494
Al 132,165 132,165 0 0 0 0 0 124,620
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Oll&FXE= - 204
SIHRE - ABEEDIS CEREE)
Ol Xl & Ol Ete
& GIlXI(EH) A - - — HID
2015 =2t T o 0168 LS Y@ | 20178 LS THAED 2 (®-®)
& 115,462 118,126 124,620 6,494
Ol XI= A 115,462 118,126 124,620 6,494
SEE AT 115,462 118,126 124,620 6,494




